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3nrLwaflbmQi 5 . 9 14.2 0 . 5 5.9 7.5

hlhklil 4 . 4 lo.0 0 . 7 7.5 0 . 8

Klhxxl 1.9 3 . 5 0 . 3 4 . 2 0.1
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dS"ISIWMl"'UMl~ fW&HlSl4 Electric Mechani-

fllsa~eillal~iipa &tam motor or Tractors Sprayers Threshers sation

diesel index’

(1)

engine

(2) (3) (4) (5) (6)

a6+lm~~w ...... 5 2 6 , 9 1 4 22.0 14.8 10.6

2-6 .................. 60,157 11.4 3.4 4.9

6~25 ................ 111,784 11.6 9.6 9.2

15-30 ............... 156.506 21.3 15.3 10.1

30-45 ............... 9 4 , 9 5 9 25.7 27.1 12.4

45~60 ............... 50,516 27.9 20.0 12.6

60-140 ............. 4 9 , 3 9 0 32.7 26.4 13.9

annnh 140 . . . . . 23,602 39.7 50.4 15.4

+bkGGT 39,440 35.7 14.4 13.0

2~6 .................. 11,058 24.3 5.7 8.0

6.15 ................ 11,910 35.0 17.4 16.6

15-30 ............... 8,476 39.1 17.8 11.5

30-45 ............... 4,073 39.1 11.8 9.7

45-60 ............... 1,900 51.9 24.7 10.5

60-140 ............. 1,913 53.0 35.0 9.9

mnn-di ~40 . . . . . 1 1 0 46.4 66.4 10.9

t$i7~aiauuawf~ 50,264 41.7 9.4 5.9

2~6 .................. 3,926 32.8 3 . 1 3.7

6-15 ................ 9,734 34.5 6 . 1 5.0

15-X ............... 15,901 39.3 6.9 5.7

30~45 ............... 10,926 45.5 9.0 6.4

45~60 ............... 5,023 53.1 13.5 7.0

60-140 ............. 4,549 51.7 24.7 1.5

u7nnil 140 . . . . . 2 0 5 46.8 54.1 8.8

3.8 51.2

0.6

2 . 1

5.6

4.0

5.0

4 . 1

7.0

20.3

38.5

52.9

59.2

65.5

ii.1

112.5

2.3 65.4

0.5 38.5

1 . 9 65.9

5.8

1 . 7

2.0

0.5

1.8

80.2

77.7

89.1

99.2

125.5

1.4 58.4

1 . 1

2.4

1.8

0.7

0.5

0.3

40.7

48.0

53.7

61.6

74.1

84.2

109.7

a7
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fll%w”lPdl~l  (transplanted rice)

15-30 Ii iY = 219.12 + 1.24X (r2 = 0.45)

30-45 Ia! Y = 206.93 + 1.14X (r2 = 0.87)

45-60  1-i Y = 193.28 + 1.01X (r2 =  0 .59 )

60-140 1-i Y = 182.85 + 1.06X (r2,  = 0.60)

fll’X~lodlF4~lM  (broadcast rice)

15-30 %i

30-45 1-i

45-60 1-i

60-140  Ii

Y = 153.15 + 1.33x

Y = 154.94 + i.oox

Y = 146.40 + 0.98X

Y = 117.85 + 1.07X

(r2  = 0.59)

(r2 = 0.45)

(r2 =  0 .42 )

(r2 =  0 .53 )
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B.Transplanted  rice

Yield per rai (Kg)

I

ihau111

200 I



niwxa~ieru~Gna 2.5 4 . 5 5.5 4 . 2

ni-=&iwnxlyvh 3 . 9 1.1 5.5 5.2

ni-ya~nkti 2.5 4 . 7 1 . 1 0 . 7

n7safiuaihkxn~suw 4 . 7 4 . 3 3.4 4.1
d
flu  “1 2.7

&%m 16.3 15.2 10.0 15.1
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3, b.fl.~27aJ.n.. .......

28 81.n:24 n.w.. . . . . . .
d

25 “.W.-24 u.n.. ......

25 ih-21 LU.U ........

22 LU.U.-19  W.R .......
n

20 Y4.n:16 U.U.. . . . . . .

17 81.u:15 n.n.. .......

16 ".vl.-12 c7.n.. . . . . . .

13 B.FI.- 9 n.u.. . . . . . .

10 n.u.- 7 n.n.........

8 9l.n: 4 W.U.. . . . . . .

5 w.u.- 2 n.n.. . . . . . . . .

3 h.Fl.-30 b.fl.........

$13

* 6.36

0.27

0.06

0.42

3.26

10.08

24.44

9.78

1.54

0.77

4.65

. 11.23

19.82

7.14

36 3

0.48

0.56

0.26

0.69

0.88

0.79

0.37

0.83

0.73

0.69

0.50

0.07

0.34

0.57

i

Minding

work

animals

Gainful

Work

2.58 3.37

3.35 3.41

3.05 3.84

3.16 3.81

2.91 3.48

2.51 1.83

1.74 0.79

3.14 4.91

4.42 7.82

4.46 6.34

3.64 3.59

2.64 2.20

1.49 1.41

3.0(,

15

3.60

18

6.35

7.12

7.93

7.11

7.11

4.20

3.82

4.27

5.05

5.41

6.03

5.71

4.54

5.69

28

19.13

14.71

15.14

15.19

15.19

19.41

31.16

22.93

19.56

17.67

18.41

21.85

27.60

20.00

100

80

61

64

66

68

81

130

96

81

74

77

91

115

83.3



qYimoun7aw7a Siniakwicdp7

TB TT BB BT

nim5taaiusJBna 4.5 1.5 3.0 0.5

nimh.4amrsJpha 3.5 3.5 0.25 0.5

msii~.sTn=i9i 1.5 1.5 1.0 1.0

nixn"un"erasbat~a~~ia 4.5 4.0 4.5 4.0

7-w 14.0 10.5 0.75 5.5
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111.  Labour  productiviiy
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IV. Labour  mpuf~
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